

Thailand's First Tourism Digital Token www.mvp-coin.com

Overview

MVP Coin is a transferable representation of attributed utility functions specified in the protocol/code of the MVP ecosystem, and which is designed to be used solely as an interoperable utility token on the platform, used to access tourism and travel related services within the MVP ecosystem. It aims to boost Thailand's tourism industry by leveraging Blockchain and Smart Contract Technology. Amid the COVID-19 pandemic , Multitechnology Expert Co., Ltd has realized and prioritized the importance of company liquidity. E-voucher strategy integrated with blockchain and smart contract technology is a promising and interesting solution for the company to keep the business intact. For this reason, MVP Coin has been issued with specified date of use.



The Sales of E-voucher or an advance discount to attract customers is a common practice for most entrepreneurs. Yet, Compromising it with Blockchain technology is a whole new level of marketing that can attract a lot more customers as well as providing a better service platform at the same time.

A purchase of MVP Coin does not equate to a purchase of shares or other securities but utility token for goods & services. The token does not give its owner any shares in any company, property rights, a permit to manage or vote, or any other rights. Multitechnology Expert Co., Ltd. does not provide advice on investments, legal assistance, or an application for investment in any security, and its activities shall not be interpreted as such. This document does not and shall not be construed as an offer to sell or subscribe, or an invitation to buy or subscribe to any securities or other financial instruments.

Caravan

444

Pre

Wedding

Way

Food

Beverage

8

SUP

Concert EV Bike

A M VIEION

BLUE STA

SERVICES

Car

ental

NEY

Hotel

Tourism Metaverse

Movie

MTB

2 - 11





Users who purchase the packages via Meta Chain receive additional discounts and privileges.

A purchase of MVP Coin does not equate to a purchase of shares or other securities but utility token for goods & services. The token does not give its owner any shares in any company, property rights, a permit to manage or vote, or any other rights. Multitechnology Expert Co., Ltd. does not provide advice on investments, legal assistance, or an application for investment in any security, and its activities shall not be interpreted as such. This document does not and shall not be construed as an offer to sell or subscribe, or an invitation to buy or subscribe to any securities or other financial instruments.

New services

MVP has continued to expand and diversify its ecosystem by offering a wider range of products and services. It has launched three types of products and services in late 2021 : 1) Car rental; 2) Tourism Metaverse; and 3) Hotels



Car rental

MVP introduces the rental service with MEV coins, offering an exclusive experience in driving Battery Electric Vehicles (BEVs) such as Tesla Model 3 and Wuling Mini EV that are not only environmental friendly but also equipped with innovative functions and attractive feature.



Tourism Metaverse

Tourism Metaverse is a Singaporean gaming platform that provides virtual reality travel experiences through a simulation of cities and attractions in Thailand. This enables MVP coin holders to experience a futuristic game where they can sell, exchange and rent digital lands, alternatively known as Non-Fungible Tokens (NFTs) available within the game.

Hotel

Premium hotels are available for the MVP coin holders with more than 100 partner hotels of MVP, sponsored by the Tourism Authority of Thailand (TAT).

Market Situation

The COVID-19 pandemic has casted a shadow over tourism industry of Thailand as witnessed from several travel restrictions and a large drop in number of tourists, both locals and foreigners

However, "en plein air" or outdoor tourism has become a trend especially for teenagers who are familiar with blockchain and digital token.

Token Utility

MVP Coin (MVP) is a digital asset that can be used for caravans and tourism related services (equivalent to blockchain e-voucher).

Blockchain Technology and utility token are the key components that will transform MVP Coin to become a transparent and reliable token. Multitechnology Expert Co., has studied and issued MVP Coin for a marketing purpose and as a transparent tool to eradicate transfer difficulties for customers of M Vision's service economy in Thailand.

Contact for more information at www.mvp-coin.com

A purchase of MVP Coin does not equate to a purchase of shares or other securities but utility token for goods & services. The token does not give its owner any shares in any company, property rights, a permit to manage or vote, or any other rights. Multitechnology Expert Co., Ltd. does not provide advice on investments, legal assistance, or an application for investment in any security, and its activities shall not be interpreted as such. This document does not and shall not be construed as an offer to sell or subscribe, or an invitation to buy or subscribe to any securities or other financial instruments.

Market Problems

1) A Lack of comprehensive platform : at the moment, customers need to rely on multiple channels when travel across destination causing complications and standard problem from several providers. For example, if you want to rent a car in Huahin and the next day you want to rent a bike in Cha-am. You have to contact two different service providers.

2) Rental Security deposit risk : typically, renting deposit for car can be in high number and it is risky when it comes in cash. Travelers may lose all their money when they travel to unfamiliar places and jurisdictions. At the moment, there are often cases where renters are cheated by owners who, under any pretext, refuse to return either the entire deposit or a part of it.

3) Expensive fees : according to statistics, about 30% of all payments for rented vehicles are made by tourists. In most cases, their bank cards are issued in a currency other than the seller's, which creates a number of inconveniences. Such payments are processed via international payment systems, therefore payment transactions, especially to a foreign country, can take several days. Moreover, during processing, the payment amount can be converted several times, which also makes tourists incur additional expenditures.

4) Customer unawareness : as of now, the rental market lets you choose a vehicle class, rather than a specific model with its unique features. In this regard, rental companies often list photos of their best available vehicle from the class, and then offer another model. As a result, you do not get the vehicle you expect.



Benefits of issuing MVP Coin (MVP is One for All)

- Solving rental deposit problem with embedded trust from Blockchain Transaction. Buyers pay in advance and acknowledge their right of services.
 - Cheap but Effective
 - Payment with digital token is better than international payment that bears the cost of currency exchange rate and tedious process.

Convenience

Coin holder can easily access to a single channel that offers comprehensive services via https:/mvcaravan.com/home/

Utility

MVP Coin is ready-to-use services, coin holders can redeem for caravan or other outdoor services even there is a fluctuation of price.

5

Discount

The presale price was covid-19 considered and discounted from fair service value.

- Compatibility
- It supports different secure and effective Chains including Bitkub Chain (BKC), Binance Smart Chain (BSC), and Meta Chain.
- 7
- Reliability
 - MVP Coin is issued by a subsidiary of listed company and can be redeemed for real services
- 8
- Some services are inherently social distancing and practical during the pandemic
- 9
- It is safe and transferrable via wallet
- **10** It is Legal and a tax contribution to country revenue



Customer focus is our priority. Our guiding principle is to build a user-friendly platform that allows users to conveniently enjoy a variety of services.

10%

10%

10%

Tokenomic Overview Name: MVP Coin Initial : MVP Total Issued Coin = 1,000,000,000 MVP Distribution Plan



Management Team - 100,000,000 MVP

• 27/05/2021 Marketing - 100,000,000 MVP

27/05/2021 Company Reserve - 100,000,000 MVP

07/06/2021 - 14/06/2021 Pre Sale - 390,000,000 MVP

39%
To be confirmed
Listing - 300,000,000 MVP
30%

Valuation

The Liquidity of MVP Coin in initial phases derives from three main sources

1) Airdrop activity for M Vision Customers

2) Marketing campaigns to boost the payment with coin

3) Walk-in customers' cash will be used for token burning in order to remove a certain quantity of MVP coin according to the utilized services from the circulating supply.

	Products & Services		Service Period (days)	Available Asset (unit)	Service capacity (time)	Average Retail Prices per use (Baht*)	Total Retail Values (Baht)	Service Prices per use (MVP COIN)	Total MVP COIN
1	MV Caravan	Service period	181	120	21,720	2,800	60,816,000	5,000	108,600,000
		1 Jan - 30 Jun							
2	EV Bike	Service period	181	20	3,620	750	2,715,000	2,500	9,050,000
		1 Jan - 30 Jun							
3	Water sports	Service period	181	10	1,810	750	1,357,500	2,500	4,525,000
	(SUP,Kayak,etc.)	1 Jan - 30 Jun							
4	Bicycle	Service period	181	5	905	750	678,750	2,500	2,262,500
		1 Jan - 30 Jun							
5	Outdoor Movie & Special	Service period	48	5	240	25,000	6,000,000	80,000	19,200,000
	Event [Up to 20 persons]	1 Jan - 30 Jun							
6	One Day Special	Service period	17	5	85	10,000	850,000	10,000	850,000
		1 Jan - 30 Jun							
7	Big Event	Service period	12	5	60	100,000	6,000,000	330,000	19,800,000
	(Concert, Wedding, 20-50 persons)	1 Jan - 30 Jun							
8	Food & Beverage								
	8.1. Large Set	Service period	181	5	905	3,000	2,715,000	10,000	9,050,000
		1 Jan - 30 Jun							
	8.2. Small Set	Service period	181	5	905	1,500	1,357,500	5,000	4,525,000
		1 Jan - 30 Jun							
9	Car Rental	Service period	181	5	905	750	678,750	2,500	2,262,500
		1 Jan - 30 Jun							
10	Hotel								
	10.1. Standard	Service period	30	15	450	8,000	3,600,000	5,000	2,250,000
		1 Jan - 30 Jun							
	10.2. Premium	Service period	30	15	450	10,000	4,500,000	8,000	3,600,000
		1 Jan - 30 Jun							
	10.3. Gold	Service period	18	5	90	30,000	2,700,000	20,000	1,800,000
		1 Jan - 30 Jun							
	10.4. Luxury	Service period	18	5	90	50,000	4,500,000	40,000	3,600,000
		1 Jan - 30 Jun		-					
	10.5. Hi-End	Service period	6	2	12	100,000	1,200,000	100,000	1,200,000
		1 Jan - 30 Jun							

Reserved tokens in the marketing wallet will be burned. In 2022, the category has been added from eight to ten kinds with the recalculation of its total value from company asset and services.

Therefore, during the first half of 2022, the total estimated value of products and services will not be less than 540 million baht from 494 million baht in 2021 (7 months) as It is a special discount for coin holders.

5,000 MVP Coin

Pianavan

AWAX

Location

No.	Place	Room	Day	Monthly Capacity	Normal Price (Baht)
1	Suan Lamai Rayong	30	30	900	1,500-2,500
2	Legato Rayong	5	30	150	2,000-2,500
3	The Play Yard Phuket	13	30	390	2,800-3,200
4	Phuingna Cafe Nakornnayok	5	30	150	2,000-2,500
5	Eureka Beach Café Huahin	3	30	90	2,000-3,500
6	Away by Aday Huahin	17	30	510	2,000-3,000
7	Chiangkhan River Green Hill Loei	3	30	90	3,000-3,500
8	PY camping Suan Phueng	6	30	180	1,500-2,000
9	Rajpracha Nakhon Ratchasima	6	30	180	2,000-2,500
10	The Campster Kanchanaburi	3	30	90	3,800-4,900
11	Doi Bo Luang Forest Park	5	30	150	1,500-2,000
12	Mae Wong National Park	3	30	90	2,000-2,500
13	Banrai loon HomeStay Phetchabun	4	40	160	2,900-5,900
14	T Villas Kaeng Khoi	6	30	180	1,900-4,400
15	Quality time Farm Stay Hua Hin	6	30	180	2,000-3,000
16	E DenHill Nakhon Ratchasima	5	30	150	2,000-3,000



2,500 MVP Coin

EV Bike	Quantity	Cash Rental Price (Baht)
M Vision	11	
Eureka	2	
Away Huahin	5	750-1,500
The Play Yard Phuket	2	750-1500
Suan Lamai	5	
Suon Lamal	20	

Bicycle	Cash Rental Price (Baht)		
The Play Yard Phuket	700-900		



2,500 MVP Coin

Kayak	Quantity	Normal Price (Baht)
Hello Camper	10	800-1,500
(2 hours)		

SUP Board	Quantity	Normal Price (Baht)
Hello Camper	10	
SUP Station Pathum	60	800-1,500
The Play Yard Phuket	10	

Canoe	Quantity	Normal Price (Baht)	
Hello Camper	1	800-1,500	

Pedal Boat	Quantity	Normal Price (Baht)	
Hello Camper	1	800-1,500	

Sea Scooter	Quantity	Normal Price (Baht)
The Play Yard Phuket	4	1,500-2,500

Pre Wedo ackade

30 Maximum attendees

330,000 MVP Coin

Places

- 1 Away By Aday
- 2 Eureka Beach Huahin
- 3 BannaKafe
- 4 Suan Lamai
- 5 The Play Yard Phuket

2 Days 1 Night Pre-wedding Package (not including wedding dresses)

- 1 Venue Rental Fee
- 2 Photographer

6 Follow Light

- 6 Wedding Photography props
- 7 One set of Afternoon Tea for bride and groom
- 3 20*30 Wedding signature picture frame 8 Exclusive dinner (4-5 persons)
- 4 Wedding photoshoot files 9 Three Caravans
 - (100 photos retouch select by a couple) 10 One night Caravan voucher with Exclusive
- 5 Wedding Photography lighting kits
- Dinner (2 persons)

Wedding Package (not include wedding dresses and F&B)

- 1 6.0 m x 3.0 m wedding backdrop 7 Photographer & Video 2 Gallery Photo Stand 8 Video Clips 3 Bouquet 9 Caravans and Breakfast 10 Buffet menu (Food & Beverages) 4 Bobble Gun 5 Backdrop & Studio Lighting 11 Venue rental fee
 - Notes : up to three-hour per event and the above price is not inclusive of food spending.

a Movie 80,000 MVP Coin

Eureka Beach Cafe

Service details / Beach grass area

- groups of up to twelve persons
- service time from 7.00 p.m. to 9.00 p.m.
- 12 Food and Beverage sets per group
- 12 bean bags
- one set of Projector with 6 m. projection Screen
- one stereo set

Menu List

- Smoked Salmon Spicy Salad
- Truffle French fries
- Surf & Turf Skewers (shrimp, squid, chicken, and pork) 4 pcs per set with side dishes)
- Praburian panna cotta
- Salted Egg Pop corn

The Play Yard Phuket

Service details / seaside area

- groups of up to twelve persons
- service time from 7.00 p.m. to 9.00 p.m.
- 12 Food and Beverage sets per group
- 12 bean bags
- one set of Projector with 6 m. projection Screen
- one stereo set
- popcorn

Users are required to prepare for music or movie contents for their own entertainment, the store is not responsible for providing any entertainment

Users are required to prepare for music or movie contents for their own entertainment, the store is not responsible for providing any entertainment

Suan Lamai Rayong Service details / Fruit and Flower garden

- groups of up to twelve persons
- service time from 7.00 p.m. to 9.00 p.m.
- 12 Food and Beverage sets per group
- 12 bean bags
- one set of Projector with 6 m. projection Screen
- one stereo set
- Barbeque Buffett and Soft drink services

Rajpracha Nakhon Ratchasima Service details / Rice field view

- groups of up to twelve persons
- service time from 7.00 p.m. to 9.00 p.m.
- 12 Food and Beverage sets per group
- one set of Projector with 6 m. projection Screen
- one stereo set
- three caravan service for one night
- dessert up to 20 sets

M Vision Service details / Rooftop

- groups of up to twelve persons
- service time from 7.00 p.m. to 9.00 p.m.
- 12 Food and Beverage sets per group
- 12 bean bags
- one set of Projector with 6 m. projection Screen
- one stereo set

Pack	Package Details				
No.	List	Quantity			
1	Projector with 6 m. Screen	1			
2	Dining Table	6			
3	Bean Bag	12			
4	Food Sets or Buffet	12			
5	Stereo Set	1			
6	Caravan				

Users are required to prepare for music or movie contents for their own entertainment, the store is not responsible for providing any entertainment

Users are required to prepare for music or movie contents for their own entertainment, the store is not responsible for providing any entertainment

Users are required to prepare for music or movie contents for their own entertainment, the store is not responsible for providing any entertainment



for 50 persons

330,000 MVP Coin

Places

- 1 Away Huahin
- 2 Suan Lamai
- 3 The Play Yard Phuket
- 4 Rajpracha
- 5 Baannakafe

Service time from 7.00 p.m. to 9.00 p.m. Normal price is 250,000 Baht Notes : The above price is not inclusive of artists, accommodation, and food. Parking lot shuttle service is provided for attendees

Away by Aday

- Event area can accommodate up to 50 guests
- One Mini Stage size 5x3 m.
- Music Controller (light, color, and sound)
- Registration checkpoint and security inspection First aid service
- First aid service
- security guard service
- Service time from 7.00 p.m. to 9.00 p.m.
- One Backup band with three music instruments

Notes : Not including food and accommodation, artists and music instruments

Rajpracha Resort

- Event area can accommodate up to 50 guests
- One Mini Stage size 5x3 m.
- Music Controller (light, color, and sound)
- Registration checkpoint and security inspection
- First aid service
- security guard service
- Service time from 7.00 p.m. to 9.00 p.m.

- One Backup band with three music instruments Notes : Not including food and accommodation, artists and music instruments

Baannakafe Ratchaburi

- Event area can accommodate up to 50 guests
- One Mini Stage size 5x3 m.
- Music Controller (light, color, and sound)
- Registration checkpoint and security inspection
- First aid service
- security guard service
- Service time from 7.00 p.m. to 9.00 p.m.

- One Backup band with three music instruments Notes : Not including food and accommodation, artists and music instruments

Suan Lamai

- Event area can accommodate up to 50 guests
- One Mini Stage size 5x3 m.
- Music Controller (light, color, and sound)
- Registration checkpoint and security inspection
- First aid service
- security guard service
- Service time from 7.00 p.m. to 9.00 p.m.

- One Backup band with three music instruments Notes : Not including food and accommodation, artists and music instruments

The Play Yard Phuket

- Event area can accommodate up to 50 guests
- One Mini Stage size 5x3 m.
- Music Controller (light, color, and sound)
- Registration checkpoint and security inspection
- First aid service
- security guard service
- Service time from 7.00 p.m. to 9.00 p.m.

- One Backup band with three music instruments Notes : Not including food and accommodation, artists and music instruments

Package Details					
No.	List	Quantity			
1	Mini Stage	1			
2	Concert Audio Set	1			
3	LED lighting set	1			
4	Moving Head light set	1			
5	Controller set	1			
6	Concert Audio Technician	2			
7	Stage Lightning Control Technician	2			
8	Registration Checkpoint	1			
9	First aid service post	1			
10	Security Guard	2			



10,000 MVP Coin

Places

- 1 Eureka
- 2 Changkhan River Green
- 3 Away by Aday Huahin
- 4 PY Camping Suan Phueng
- 5 The Play Yard Phuket





META Chain Privileges

META Chain Meta Chain is a blockchain infrastructure that supports transactions of MVP coin. Unlike most Blockchain Networks, Meta Chain depends on Proof-of-Authority (POA), a reputation-based consensus algorithm that inherits secure, efficient, traceable, and fast-processing traits.

MVP coin users on Meta Chain receive additional discounts and privileges more than those who are on BKC and BSC. The discount promotions will be changed seasonally.

Example of Privileges of Meta Chain

YEAR



Buy 1-night MV Caravan Get 2 more nights



1. Decentralized System, All transaction data are stored in blockchain. Transactions are made via smart contracts, which completely eliminates intermediaries and other third parties. A smart contract ensures the transaction is secure and independent.

2. Guaranteed Trust All information about the owner and the render, feedback on the quality of the services provided and the history of their previous orders are kept secured and cannot be altered or deleted. The platform helps to quickly check whether a company or a customer is reliable or not.

3. Secured funds, low fees Blockchain provides a mechanism to securely transfer funds and to significantly reduce transaction costs that are normally charged by international systems during payment transactions.

A purchase of MVP Coin does not equate to a purchase of shares or other securities but utility token for goods & services. The token does not give its owner any shares in any company, property rights, a permit to manage or vote, or any other rights. Multitechnology Expert Co., Ltd. does not provide advice on investments, legal assistance, or an application for investment in any security, and its activities shall not be interpreted as such. This document does not and shall not be construed as an offer to sell or subscribe, or an invitation to buy or subscribe to any securities or other financial instruments.

About Multitechnology Expert Co., Ltd.

Multitechnology Expert Co., Ltd. was established in April 2019. It is a subsidiary of the M Vision Public Company Limited that embarks on marketing and digitization of services in the M Vision economy. The company will be cumulating new services and collaboration with partners in the near future.



OPAS CHERDPUNT FOUNDER

- CEO M Vision PCL

- CEO IDOL Master



PARIN Sathianpagilanagorn CO-FOUNDER

-Honorable Advisor, Skywell Thailand Co.,Ltd

-Director, Superrich Global Pte. Ltd., Singapore

-CEO Multi Technology Expert Co.,Ltd.



DOME CHAROENYOST HEAD DEVELOPER

- Founder DomeCloud Co., Ltd.

- CEO thaichain.io



Acquisition by A Plus Fintech Pte Ltd

The name of "Paul Wan" (Paul Wan) may not be familiar to Thai people, but not to those who are in the capital markets, or the cryptocurrency markets of Asia and Europe; as he is said to be a driving force behind the success of many projects.



Paul Wan is a Singaporean investor and corporate finance advisor. He has successfully led many large companies to raise capital on the stock exchanges of Singapore, USA, UK, South Korea Taiwan and has handled many merger and acquisition deals from Singapore, China, Thailand, Vietnam, India, Saudi Arabia and Europe. He also has a wealth of experience in audit and is also a practicing member of the Institute of Singapore Chartered Accountants (ISCA) and the Institute of Chartered Accountants in England and Wales (ICAEW). Moreover, he is one of the founding member of the Morison Group Accountants and Business Advisors and recently became global Chairman in September 2020. Morison Global is an organization that brings together a global network of leading companies providing accounting, auditing, tax management, corporate finance, IT and legal experts. Mr Paul Wan who has strong connections with companies around the world and is behind many successful business deals, until being trusted by customers in all continents around the world. He has travelled to more than 50 countries and visited 80 over cities for businesses.

Prior to becoming chairman of Morison Global, Paul had long played a key role in driving the global growth. In particular, he is one of the driving forces behind the establishment of Morison's networks in Asia where he recruited more than 30 firms into the group. Globally Morison Global has presence in 75 countries, 155 firms, 365 offices and global strength of almost 11,000.

One of the achievements that made Paul Wan into the spotlight was the success of penetrating the South Korean capital market. It is the first time that the South Korean stock exchange has permitted local Korean companies that are not part of the big four accounting groups (PWC, Deloitte, KPMG, and E&Y) to undertake IPO of foreign companies in South Korea. Prior to this challenging change, The market had always been hegemonized by the big four accounting groups.

As the global capital markets begin to develop, digital technology and Blockchain technology have made online transactions and doing business on digital platforms easy. There are effective cost management, creating many new business opportunities, and embracing new technology. Paul founded A plus Fintech to pioneer the cryptocurrency market (Cryptocurrency) that is about to become the future of the modern financial world.

Contact Information

Telegram (Official) https://t.me/mvpcoincmd

Facebook Page https://www.facebook.com/mvpcointh

Twitter https://twitter.com/mvpcoinofficial

